Parcursul comandat
Ordered route

Macaze controlate si zavorate
Controlled and locked turnouts

Sectiuni izolate controlate
Controlled insulated tracks

Parcursuri incompatibile
Incompatible routes
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06. MANEVRA - CAP Y/ SHUNTING - Y END
1 X1 024TM | Aa -12;+4;+6; +2;+8; |12;4-6; - YF;Y (4);X1;XIL;(XI11;X4)(6); X1 (XIL(XII; X4)(6);M2(4); M4, -
2 XII |024TM| Aa +12;+4;+6; +2;+8; |12;4-6; - [YE;Y(4),X1;XIL(XIIT; X4)(6); X1;  |X1;(XOL;X4)(6);M2(4);M4; -
3 X1 |034TM| Aa -12;+6;-4;-2; +8;  |12;4-6;2-8; - [YGYE;X1-X4; XII-X4; [XII;XII;X4;M2;M4; -
X1;XIII;
4 XII | 034TM Aa +12;+6;-4;-2; +8; 12;4-6;2-8; - Y;YF;X1-X4; x4 X1;XIII;X4;M2;M4; -
X1;X1I;
5 XII |024TM | Aa +10;-8;-6;14; +2;  |10;2-8;4-6; - [YSYE;X1-X45 X4 X4;X1;XI;M2;M4; -
6 X4 |024TM| Aa -10;-8;-6;+4; +2;  |10;2-8;4-6; - [YSYE;X1-X45 X1-X1ITL; (XILX1;XI1;M2;M4; -
7 XII | 034TM Aa +10;+8;+2; +4;+6; |10;2-8; - Y YF(8): XTI X4;(X1;XI)(2); X4; [ X4;,(X1;XI)(2);M2;M4(8); -
8 X4 |034TM | Aa -10;+8;+2; +4;+6; |10;2-8; - [YSYFE(8)XIILX4;(X1:X2)(2); XII;, (XX 1;XID)(2);M2;M4(8); -
9 M2 M6 Aa +2;+8; +4;+6; |4-6; - [YSYFE(8);(X1;XIN)(2); X1, X4 XII;X4; (X1;XI)(2); X X4;M4(8); -
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10 M2 M8 Aa -2;-4;+6; +8;  4-6;2-8; - Y;YF; X1-X4;X;XF; - X1-X4;M4; -
11 M4 M6 Aa +4;-6;-8; +2; |4-6;2-8; - Y;YF;X1-X4;X;XF; - X1-X4;M2; -
12 M4 M8 Aa +4;+6; +2;+8; |4-6; - Y (4); YF; X 1;XII;(XII1;X4)(6); XX (XXX X4)(6);M2(4); -
13 M6 YIII Aa +10; - 10; - Y (+2); YF(8);X111;X4;Y4; XI; X4; | XII;X4; -
14 M6 Y4 Aa -10; - 10; - Y (+2); YF(8);XIII;X4; Y11, XII; X4; | XII;X4; -
15 M8 Y1 Aa -12; - 12; - Y (4);YF(+6);X1;XII; X1;XI1I; X1;XI1I; -
16 MS YII Aa +12; - 12; - Y (4);YF(+6);X1;XIL;Y1; X1;X1I; X1;XII; -
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